
Year 5 Arithmetic Test  

968 x 4 =  

4012—204 = 

60/ 100 - 39 / 100 = 

________ - 100 =3 059  

960 + ( 42 ÷ 6 ) =  

2/6 x 4/5 =  

50 x 90 =  

2597 ÷ 7 = 

0.008 ÷10 = 

****BONUS*** 1736 ÷ 14 = 



Year 5 Arithmetic Test  

515 + 30 =  

539 + 11 =  

5/6 - 1/6 =  

597 ÷ 1 = 

595—117 =  

591 + 7 =  

_________ = 517 + 7  

14 x 2 =  

20 ÷ 2 = 

10 x ___ = 150 

 

Challenge:  

Spot the mistake:  

3p + 10p + 5p =40p 

10p + 1p + 1p =£30 

20p + 20p = £40  

Can you give any 

tips?  


